

Houghton Mifflin Harcourt

Proposal

Prepared For

Galveston Ind School District

3904 Avenue T Galveston TX 77550

Attention: **Eric Mueller** ericmueller@gisd.org

For the Purchase of:

HMH Science Fusion TX K-5 2015

Prepared By Mary E. Brown (TX) mary.brown@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for Professional Services purchased, must be submitted at least 30 days before the service event date.

> Attention: Eric Mueller ericmueller@gisd.org

Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Date of Proposal: 7/20/2020

Proposal for Galveston Ind School District

Expiration Date: 9/3/2020

| Gaiveston ind School District | | | | | | |
|-------------------------------|--|---|-------------|---------------------------------------|---------------------------|--|
| ISBN | Title | | Price | Quantity | Value of All Materials | |
| <u>Grade l</u> | <u> </u> | | | | | |
| Student | | | | | | |
| 1528912 9780544025455 | Science Fusion Texas Student Edition Grade K 2015 | C | \$5.00 | 540 | \$2,700.00 | |
| 1546124 9780544139824 | Go Math! Texas Student Edition Bundle Grade K 2015 | С | \$13,00 | 540 | \$7,020.00 | |
| Total for Student | | | | | | |
| Total for Grade K | | | \$9,720.00 | | | |
| <u>Grade 1</u> Student | | | | | | |
| 1528913 9780544025462 | Science Fusion Texas Student Edition Grade 1 2015 | c | \$8.55 | 590 | \$5,044.50 | |
| 1546125 9780544139725 | Go Math! Texas Student Edition Bundle Grade 1 2015 | c | \$13.00 | 590 | \$7,670.00 | |
| Total for Student | | | | | | |
| Total for Grade 1 | | | \$12,714.50 | | | |
| <u>Grade 2</u> Student | £ | | | | | |
| 1528914 9780544025479 | Science Fusion Texas Student Edition Grade 2 2015 | С | \$8.55 | 500 | \$4,275.00 | |
| 1546126 9780544136526 | Go Math! Texas Student Edition Bundle Grade 2 2015 | С | \$13.00 | 500 | \$6,500.00 | |
| Total for Student | | | | | | |
| Total for Grade 2 | | | \$10,775.00 | · · · · · · · · · · · · · · · · · · · | | |
| <u>Grade 3</u> Student | | | | | | |
| 1528915 9780544025493 | Science Fusion Texas Student Edition Grade 3 2015 | c | \$9.75 | 520 | \$5,070.00 | |
| 1546127 9780544142527 | Go Math! Texas Student Edition Bundle Grade 3 2015 | c | \$13.00 | 520 | \$6,760.00 | |
| Total for Student | | | | | | |
| Total for Grade 3 | | | \$11,830.00 | | | |
| <u>Grade 4</u> Student | | | | | | |
| 1528916 9780544025509 | Science Fusion Texas Student Edition Grade 4 2015 | c | \$9.95 | 540 | \$5,373.00 | |
| 1546128 9780544142428 | Go Math! Texas Student Edition Bundle Grade 4 2015 | С | \$13.00 | 540 | \$7,020.00 | |
| Total for Student | | | | | | |
| Total for Grade 4 | | | \$12,393.00 | <u> </u> | | |

Attention: Eric Mueller ericmueller@gisd.org

Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 Date of Proposal: 7/20/2020

Proposal for Galveston Ind School District

Expiration Date: 9/3/2020

| | Gaiveston ind School District | | | | | |
|---------------------------|---|-------------|-------------|-------------|-----------------------------|--|
| ISBN | Title | | Price | Quantity | Value of All Materials . | |
| | | | | | | |
| Grade 5 | | | | | | |
| Student | | | | | | |
| 1528917 9780544025516 | Science Fusion Texas Student Edition Grade 5 2015 | c | \$10.65 | 570 | \$6,070.50 | |
| 1546129 9780544140929 | Go Math! Texas Student Edition Bundle Grade 5 2015 | c | \$13.00 | 570 | \$7,410.00 | |
| Total for Student | | | | | | |
| | | | | | | |
| Total for Grade 5 | | | \$13,480.50 | | ··· | |
| Grade 6 | | | | | | |
| Student Student | | | | | | |
| 1528918 9780544025523 | Science Fusion Texas Student Edition Grade 6 2015 | c | \$12.95 | 585 | \$7,575.75 | |
| 1532646 9780544051676 | Go Math Texas Student Interactive Worktext Grade 6 2015 | c | \$14.50 | 585 | \$8,482.50 | |
| Total for Student | | | | | | |
| | | | | | | |
| Total for Grade 6 | | | \$16,058.25 | | | |
| Cuada 7 | | | | | | |
| <u>Grade 7</u> Student | | | | | | |
| 1528919 9780544025530 | Science Fusion Texas Student Edition Grade 7 2015 | c | \$12.95 | 540 | \$6,993.00 | |
| 1532647 9780544050877 | Go Math Texas Student Interactive Worktext Grade 7 2015 | c | \$14.50 | 540 | \$7,830.00 | |
| Total for Student | | | | | | |
| | | | | | | |
| Total for Grade 7 | | | \$14,823.00 | | | |
| Grade 8 | | | | | | |
| Student | | | | | | |
| 1528920 9780544025547 | Science Fusion Texas Student Edition Grade 8 2015 | С | \$12.95 | 530 | \$6,863.50 | |
| 1532648 9780544052888 | Go Math Texas Student Interactive Worktext Grade 8 2015 | С | \$14.50 | 530 | \$7,685.00 | |
| Total for Student | | | | | | |
| | | | | | | |
| | | | | | | |

Subtotal Purchase Amount: Shipping & Handling:

Total Cost of Proposal (PO Amount): \$116,342.75 \$0.00

Ψ0.00

\$14,548.50

\$116,342.75

Please add proper sales tax to your order

Attention: Eric Mueller ericmueller@gisd.org Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Total for Grade 8

Date of Proposal: 7/20/2020

Proposal for Galveston Ind School District

Expiration Date: 9/3/2020

Total Cost of Proposal (PO Amount): \$116,342.75

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to:

Sold to:

Galveston ISD

Galveston ISD

3904 Avenue T

Galveston, TX 77550-8643

Galveston, TX 77553-0660

- Please provide funding start and end dates.
- Please note that all products and services will be billed upon the processing of your purchase order.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Destination.
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 7/20/2020 **Proposal Expiration Date: 9/3/2020**



Houghton Mifflin Harcourt

Attention: Eric Mueller ericmueller@gisd.org

Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com